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 4. A ball is thrown horizontally over the edge of a cliff.

A group of students draw three velocity-time (v-t) graphs to represent the motion of the 
ball, when air resistance is taken into account.
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Which row in the table shows the graphs that represent the horizontal component of the 
velocity and the vertical component of the velocity?

Horizontal 
component of the 

velocity

Vertical 
component of the 

velocity

A graph X graph Y

B graph X graph Z

C graph Y graph X

D graph Y graph Z

E graph Z graph X

 5. In a hydroelectric power station water flows from a reservoir through turbines at a rate of 
4.5 u 106 kg per minute.

The reservoir is 150 m above the turbines.

The total power delivered by the water in falling from the reservoir to the turbines is

A   3.0 u 104 W

B   7.5 u 104 W

C   1.1 u 108 W

D   6.6 u 109 W

E 4.0 u 1012 W.


